
































































































































































































































































































































































































































































































































































FDIV - Floating Point Divide 

D626 

D626 A5E0 
D62A F0FA 'D626 
D62C A5D4 
D62E F0F4 'D624 

D630 20CFDC 

D633 
D634 
D636 
D637 
D639 

36 
E5E0 
16 
6940 
30E6 'D626 

D636 20E0DC 
D63E E6F5 
D640 4C4ED6 

= 00D9 
D643 

D643 A200 
D645 
D645 65D5 
D647 95D4 

D649 E8 
D64A E00C 
D64C D0F7 'D645 

D64E 

D64E 
D650 
D651 
D652 
D652 
D655 
D656 
D656 
D65C 
D65E 

D65F 

DB61 

A005 
38 
F8 

69DA00 
F9E600 
99DA00 
88 
10F4 "DB52 
D8 

9004 "D665 

E6D9 

FDIV 

LDA 
BEQ 
LDA 
BEQ 

JSR 

SEC 
SBC 
CLC 
ADC 
6MI 

JSR 
INC 
JMP 

QTEMP 
:NXTQ 

LDX 
: NXTQ1 

LDA 
STA 

INX 
CPX 
BNE 

:FRD1 

LDY 
SEC 
SED 

:FRS2 
LDA 
SBC 
STA 
DEY 
6PL 
CLD 

BCC 

INC 

Source Code 

ON ENTRY FR0 - DIVIDEND 
FR1 - DIVISOR 

ON EXIT FR0 - QUOTIENT 

RETURNS WITH CC SET: 
CARRY CLEAR - ERROR 
CARRY SET - NO ERROR 

DO DIVIDE SET UP 

EQU 

FR1 
:EROV 
FR0 
MEND3 

MDESUP 

FR1 

#$40 
:EROV 

MDSUP 
ZTEMP1 
:FRD1 

FR0+FMPREC 

GET FR1 EXP 
IF =0, THEN OVERFLOW 
GET EXPONENT FR0 
IF = 0, THEN DONE 

DO COMMOM PART OF EXP SET UP 

SUB FR1 EXP FROM FR0 EX 

ADD IN EXCESS 64 
IF MINUS THEN OVERFLOW 

DO SETUP COMMON FOR MULT 
;LOOP 1 MORE TIME FOR DIVIDE 
; SKIP SHIFT 1ST TIME THROUGH 

SHIFT FR0 /FRE LEFT ONE 6YTE 
[THEY ARE CONTIGUOUS ] 

FR0+1,X 
FR0,X 

#FMPREC*2+2 
:NXTQ1 

DO DIVIDE 

GET POINTER TO BYTE TO MOVE 

GET BYTE 
MOVE IT LEFT ONE BYTE 

POINT TO NEXT BYTE 
HAVE WE DONE THEM ALL? 
IF NOT, BRANCH 

SUBTRACT FR2 [DIVISOR * 2] FROM FRE [DIVIDEND] 

#FMPREC 

FRE,Y 
FR2 , Y 
FRE , Y 

:FRS2 

:FAIL 

QTEMP 

SET LOOP CONTROL 
SET CARRY 
SET DECIMAL MODE 

GET A 6YTE FROM FRE 
SUB FR2 
STORE RESULT 
DEC COUNTER 
BR IF MORE TO DO 
CLEAR DECIMAL MODE 

IF RESULT <0 [FRE < FR2] 6R 

INCR # TIMES SUB [QUOTIENT] 
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Source Code 

DB63 D0E9 'DB4E 

DB65 
DB65 200FDD 

DB68 
DB6A 
DB6C 
DB6E 
DB70 

D870 
DB72 
D873 
D874 
D874 
DB77 
DB7A 
DB7D 
DB7E 
D880 

D881 

D883 

D885 

D887 

06D9 
06D9 
06D9 
06D9 

A005 
38 
F8 

B9DA00 
F9E000 
99DA00 
88 
10F4 'D874 
D8 

9004 'DB87 

E6D9 

D0E9 'D870 

D887 2009DD 

DB8A C6F5 
D8BC D0B5 'D843 

D88E 2062DC 

D891 4C1AD8 

BNE 

FAIL 
JSR 

ASL 
ASL 
ASL 
ASL 

:FRD2 

LDY 
SEC 
SED 

:FRSl 
LDA 
SSC 
STA 
DEY 
BPL 
CLD 

8CC 

INC 

8NE 

:FAIL2 
JSR 

DEC 
BNE 

JSR 

JMP 

:FRDl ; SUB AGAIN 

SUBTRACT OF FR2 DIDN 'T GO 

FRA2E ; ADD FR2 BACK TO FR0 

SHIFT LAST BYTE OF QUOTIENT ONE NIBBLE LEFT 

QTEMP 
QTEMP 
QTEMP 
QTEMP 

SHIFT 4 BITS LEFT 
X 
X 
X 

SUBTRACT FRl [DIVISOR] FROM FRE [DIVIDEND] 

#FMPREC 

FRE,Y 
FR1,Y 
FRE,Y 

:FRSl 

:FAIL2 

QTEMP 

:FRD2 

SET LOOP CONTROL 
SET CARRY 
SET DECIMAL MODE 

GET A BYTE FROM FRE 
SUB FRl 
STORE RESULT 

BR IF MORE TO DO 
CLEAR DECIMAL MODE 

IF RESULT < 0 [FRE < FR1] 8R 

INCR # TIMES SU8 [QUOTIENT] 

SU8 AGAIN 

SU8TRACT OF FRl DIDN'T GO 

FRA1E 

ZTEMPl 
:NXTQ 

RSHF0E 

MDEND 

ADD FRl BACK TO FR0 

DEC LOOP CONTROL 
GET NEXT QUIOTIENT BYTE 

;SHIFT RIGHT FR0/FRE TO CLEAR 
EXP 

; JOIN MULT END UP CODE 

:GETCHAR - Test Input Character 

ON ENTRY INBUFF - POINTS TO 8UFFER WITH INPUT 
CIX - POINTS TO CHAR IN BUFFER 

D894 :GETCHAR 
D894 20AFD8 JSR 
DB97 A4F2 LDY 
DB99 9002 'D89D BCC 

DB9B B1F3 LDA 

D89D :GCHRl 
D89D C8 INY 
D89E 84F2 STY 
D8A0 60 RTS 

ON EXIT 

TSTNUM 
CIX 
:GCHRl 

CIX - POINTS 'ro NEXT CHAR 
CC - CARRY CLEAR IF CHAR IS NUMBER 

CARRY SET IF CHAR NOT NUMBER 

GO TEST FOR NUMBER 
GET CHARACTER INDEX 
IF CHAR = NUM, SKIP 

[INBUFF], Y GET CHARACTER 

CIX 
POINT TO NEXT CHAR 
SAVE INDEX 

SKPBLANK-SKIP BLANKS 
STARTS AT CIX AND SCANS FOR NON BLANKS 
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Source Code 

DBAI SKBLANK 
DBAI SKPBLANK 
DBAI A4F2 LDY CIX ;GET CIX 
DBA3 A920 LDA #$20 ;GET A BLANK 

DBA5 DIF3 :SBI CMP [INBUFF], Y ;IS CHAR A BLANK 
DBA7 D003 'DBAC BNE :SBRTS ;BR IF NOT 
DBA9 C8 INY ; INC TO NEXT 
DBAA D0F9 'DBAS BNE :SBI ;GO TEST 

DBAC 84F2 :SBRTS STY CIX ; SET NON BLANK INDEX 
DBAE 60 RTS ;RETURN 

TSTNUM-TEST CHAR AT CIX FOR NUM 
- RTNS CARRY SET IF NUM 

DBAF TSTNUM 
DBAF A4F2 LDY CIX ;GET INDEX 
DBBI BIF3 LDA [INBUFF], Y ;AND GET CHAR 
DBB3 38 SEC 
DBB4 E930 SBC #$30 ;SUBTRACT ASCLT ZE~O 
DBB6 9018 'DBD0 8CC :TSNFAIL ;BR CHAR<ASCLT ZERO 
DBB8 C90A CMP #$0A ; TEST GT ASCLT 9 
DBBA 60 RTS ;DONE 

:TSTCHAR - Test to See if This Can Be a Number 

DBBB :TSTCHAR 
DBBB A5F2 LDA 
DBBD 48 PHA 
DB BE 2094DB JSR 
DBCl 901F 'DBE2 BCC 

DBC3 C92E CMP 
DBCS F014 'DBDB BEQ 
DBC7 C92B CMP 
DBC9 F007 'DBD2 BEQ 
DBCB C92D CMP 
DBCD F003 'DBD2 BEQ 

DBCF :RTFAIL 
DBCF 68 PLA 
DBD0 38 :TSNFAIL 
DBDI 60 RTS 

DBD2 :TSTNI 
DBD2 2094DB JSR 
DBDS 900B 'DBE2 BCC 
DBD7 C92E CMP 
DBD9 D0F4 'DBCF BNE 
DBDB :TSTN 
DBDB 2094DB JSR 
DBDE 9002 'DBE2 BCC 
DBE0 B0ED 'DBCF BCS 

DBE2 :RTPASS 
DBE2 68 PLA 
DBE3 85F2 STA 
DBE5 18 CLC 
DBE6 60 RTS 

ON EXIT CC - CARRY SET IF NOT A # 
CARRY CLEAR IF A # 

CIX GET INDEX 
SAVE IT 

:GETCHAR GET CHAR 
:RTPASS IF #8 RETURN PASS 

# ' • ' IF D. P. , OK SO FAR 
: TSTN 
# '+' IF +8 OK SO FAR 
:TSTNI 
#' -' IF -8 OK SO FAR 
:TSTNI 

; CLEAR STACK 
SEC ;SET FAIL 

:GETCHAR GET CHAR 
: RTPASS IF # , RETURN PASS 
#' . ' IS IT D.P. 
:RTFAIL IF NOT, RETURN FAIL 

:GETCHAR ELSE GET NEXT CHAR 
:RTPASS IF #, RETURN PASS 
:RTFAIL ELSE, RETURN FAIL 

RESTORE CIX 
CIX X 

CLEAR CARRY 
RETURN PASS 

NIBSHO - Shift FRO One Nibble Left 

DBE7 
DBE7 A2E7 

NIBSH2 
LDX 

NIBSH2 - SHIFT FR2 ONE NIBBLE LEFT 

#FR2+l POINT TO 1ST MANTISSA BYTE 
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